AP Calculus BC Quiz, 8.3-8.5

1. Find the indefinite integral

/cos zsin?z dz

(a) <2 4O
(b) —<£2 4 C
(c) H22 4 C
(d) -2z 4 ¢
(e) Sz 4 C

2. Find the indefinite integral
3 .2
/cos (22) sin”(2x) dx

(a) sinl(gm) (5 sin?(2zx) — 35in4(2x)) +C

(b) Sin?fgm) (4 — 5sin®(2z) + 3sin(22)) + C
(c) Sm?f%) (5sin?(2x) — 3sin®(22)) + C
sin(2x)

(d) 10 (4 — 5sin®(2z) + 3sin*(22)) + C

(e) Sm?fgx) (4 — 5sin®(2z) + 3sin(22)) + C
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3. Write the form of the partial fraction decompo- 4. Find the indefinite integral
sition for the following rational expression:

' / 13z — 109
———— dx
—9 22 — 132 + 30
z2 + b

A B
(a)? B

A B
b) =
(b) J;+Jj+5

A B
(C)P r+5

Az + B B
d
(d) 2 x+5
(©) Az + B E

2 5z
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